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

 is the adversative use of the postpositive conjunction DE, meaning “However” plus the nominative subject from the masculine singular article, used as a personal pronoun, “he.”  Then we have the negative adverb OUK, meaning “not” plus the third person singular imperfect active indicative from the verb THELW, which means “to want, wish, will, or desire.”


The imperfect tense is a descriptive imperfect of a past, continuing action.


The active voice indicates that the first servant was producing the action.


The indicative mood is declarative for a simple statement of fact or reality.

“However, he was not willing,”
 is the strong adversative conjunction ALLA, which means “but,” followed by the nominative masculine singular aorist active participle of the verb APERCHOMAI, which means “to go away; to depart.”


The aorist tense is a constative/historical aorist, which views the entire past action as a fact.


The active voice indicates that the first servant/slave produced the action.


The participle is a temporal participle with the action of the participle preceding the action of the main verb.  It can be translated “after going away.”

Next we have the third person singular aorist active indicative from the verb BALLW, which means “to throw: he threw.”


The aorist tense is a constative/historical aorist, which views the entire past action as a fact.


The active voice indicates that first servant produced the action.


The indicative mood is declarative for a simple statement of fact or reality.

Next we have the accusative direct object from the third person masculine singular personal use of the intensive pronoun AUTOS, meaning “him.”  Then we have the preposition EIS plus the accusative of place from the feminine singular noun PHULAKĒ, meaning “in prison.”

“but, after going away, he threw him in prison”
 is the Homeric conjunction HEWS, meaning “until” plus the third person singular aorist active subjunctive from the verb APODIDWMI, which means “to pay back; repay: he should pay back.”


The aorist tense is a constative/futuristic aorist, which views the future action in its entirety.


The active voice indicates that the second slave/servant should/might produce the action.


The subjunctive mood is a potential subjunctive, indicating the indefinite period of time required to complete the action of the verb.

Finally, we have the accusative direct object from the neuter singular articular present passive participle of the verb OPHEILW, which “to be owed: was owed.”


The article functions as a relative pronoun, meaning “what” or “that which.”


The present tense is a descriptive present of the current status quo.


The passive voice indicates that the amount of money receives the action of being owed.


The participle is circumstantial.

“until he should pay back what was owed.”
Mt 18:30 corrected translation
“However, he was not willing, but, after going away, he threw him in prison until he should pay back what was owed.”
Explanation:
1.  “However, he was not willing,”

a.  The second slave, who is subordinate to the first slave in this story, has fallen down before the first slave and begged for mercy and requested patience in allowing him to pay back his debt.  However, the first slave was not willing to allow him to do this.


b.  The first slave was in the same situation as the second slave, but his response to the plea for leniency is not the same as the response of the master of the estate.  The master showed grace, mercy, forgiveness and compassion to the first slave, but the first slave’s response and reaction is totally different.

2.  “but, after going away, he threw him in prison”

a.  The strong contrast between the master and the first slave is brought out in the Greek word ALLA, which is the strongest word of contrast in the Greek.


b.  The subject of the participle ‘going away’ has to be the same person who is the subject of the verb ‘he was not willing’ and the verb ‘he threw’.  It is the first slave who going away from the second slave, and after doing so, has the second slave thrown in prison.  Grammatically, it is impossible for the second slave to be the subject of the action of the participle ‘going away’.  The first slave departed the scene, contacted the police, had the second slave arrested, and had him thrown into debtor’s prison.


c.  If anyone should have been thrown in prison, it should have been the first slave with his enormous debt, and not the second slave, whose debt could be paid off in a little over three months, working in the fields of the master.  His debt was a petty sum in contrast to the first slave, and he could have worked ‘overtime’ to pay the debt back.  There was no need for prison.

3.  “until he should pay back what was owed.”

a.  How was the second slave supposed to pay his debt while in prison?  There were several ways:



(1)  He could be beaten or tortured each day as a physical punishment.



(2)  He could work on a ‘chain gang’ for 100 days for the first slave.



(3)  His friends and relatives could raise the money and pay the debt.


b.  One way or another the second slave was going to pay back the debt as far as the first slave was concerned.  There would be no mercy, no forgiving the debt, and no leniency.  The first slave was either going to get his money, or the second slave was going to suffer painfully in some way.  There is no kindness here, only cruelty.

4.  Commentators’ comments.


a.  “Perhaps he had the legal right to throw the man in prison, but he did not have the moral right.  He had been forgiven himself—should he not forgive his fellow servant?  He and his family had been spared the shame and suffering of prison.  Should he not spare his fellow-slave?”


b.  “The first servant refused to show mercy toward his debtor.”


c.  “Verse 30 was not only an action against the fellow-slave, but also an affront to the king who owned that slave, for, by imprisoning him, the first slave showed a complete disregard for his lord’s rights.  Consider this fact as a principle within the interpretation of the parable: a believer who does not forgive a fellow-believer but holds him under an obligation, is actually infringing God’s rights and claims over that fellow-believer.”


d.  “The first made a conscious choice to harden his heart.”


e.  “But whereas the petition was to all intents and purposes identical with the earlier request, the response is diametrically opposite.  The verb ‘would not’ refers to the action of the will; the imperfect tense points to continuing action: he continued in his opposition to the petition; his will was set against clemency.  Since the unfortunate man was to be in prison until he repaid the debt and since in prison he had no opportunity to earn the necessary money, his outlook was bleak.  Jesus is depicting for us a horrible example of an unforgiving, though forgiven, man.  It is the height of ingratitude and injustice.”
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